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51)  

 

A)                                     B)                                        C)                                      D) 

 

 

 

 

 

 

 

 

 

  

          E)  None of the above 

 

52) Given the rigid transformation below, what would the rule be from the coordinates of the pre-image 

(Quadrant IV) to the image. 

 

 

 

A) (x, y)  (x, -y)               B)  (x, y)  (-x, y) 

                                                                     

C) (x, y)  (-x, -y)            D)  (x, y)  (y, x) 

 

E)  None of the above 

 

 

 

 

 

 

53)  What is the correct sequence of rigid transformations shown in the diagram? 

 
 

A) Translation, 90o clockwise rotation.                      B)  90 o counter-clockwise rotation, translation 

C)  Translation, 90 o counter-clockwise rotation         D)  Reflection, translation, reflection 

E)  None of the above 

 

 

54)  Which of the following is NOT a Pythagorean Triple? 

 

A)  7, 24, 25               B) 5, 12, 13               C)  6, 8, 10               D)  9, 41, 42 

        E)   All are Pythagorean Triples 
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55)  Solve for the missing angle.                                           56)  Solve for x. 

   
 

57) Solve for 𝑚∠𝐴.                                                                    58)  Solve for ? 

 
 

 

 

Use the diagram of the square pyramid with base sides 6 and height of 4 for problems 59 and 60. 

 

 

 

 

 

 

 

 

 

59)  What is the length of “a”, the lateral height of the pyramid? 

 

A) 6                  B)  5                    C)  4                    D)   7                      E)  None of the above 

 

60)  What is the surface area of the square pyramid?     

                      SA = 1/2 Pa + B  (B = area of the base, P = perimeter of the base) 

 

A)  96 sq. units       B)  120 sq. units      C)  132 sq. units     D)  126 sq. units     E)  None of the above      

 

 

 61)  What is the volume of the pyramid?   V = 1/3 Bh    (B = area of the base) 

 

A)  40 cu. units      B) 60 cu. units         C)  144 cu. units     D)  48 cu. units      E)  None of the above 
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62) 63) 

64) 65) 

66) 67) 

The ? is placed in the angle that is bolded. 

?  

?  

?  ?  

?  

?  

68) 69) 
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74)    What is the geometric probability (to the nearest thousandth) of landing in one of the tangent circles 

inside the square? Each side of the square is tangent to the outside circles. 

 

 

            A)   0.947           B) 0.846          C)  0.979              D)  0.785 

  

           E)  None of the above  

 

 

 

 

 

 

 

Use the following diagram for problems 75-76.  
 

 

 

75)  What is the probability of landing on 𝐵𝐶̅̅ ̅̅  on  𝐴𝐸̅̅ ̅̅  ? 

       

A)  3/8                  B)  3/16             C)  3/4                 D)   1/3               E.  None of the above 

 

76)  What is the ratio of:    AC:CD  

 

A) 1:2                  B)  4:1               C)  1:4                  D)   2:1               E.  None of the above 

 

 

77)  If the tangent ratio of an acute angle in a right triangle is 2/5, what is the angle measure to the nearest 

degree? 

 

A. 25o                  B. 24o                C.  22o                  D.   66o                 E.  None of the above 

70) 71) 

72) 73) 

Volume 

Formulas:  

 

Sphere:  

𝑽 =
𝟒

𝟑
𝝅𝒓𝟑  

 

Cylinder: 

𝑽 = 𝝅𝒓𝟐𝒉  

 

Cone:  

𝑽 =
𝟏

𝟑
𝝅𝒓𝟐𝒉 

= diameter 
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78)  Use trigonometry to find the side length                    79) Given the right triangle XYZ, find sin X.  

       to the nearest tenth. 

 

 
 

 
 

 

 
82)  How tall is the tree?   

 

 

 

 

 

 

       A)  20 meters       B) 60 meters         C) 60 meters          D)  75 meters         E)  None of the above 

 

 

83) Given the tangram figure, what is the ratio of Figure B to the whole square? 

 

A) 1/6             B)  1/4            C)  1/8           D) 1/16        

 

E)  None of the above 

 

 

80) 81) 
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Use the house plans with the dimensions given for problems 84-85. 

 
84)  What is the area of the smallest bedroom? Do NOT round your answers. 

 

       A)  171 sq. ft.    B) 137.25 sq. ft.    C) 137.7 sq. meters   D)  63.25 sq. meters    E)  None of the above 

 

85)  What is the area of the larger bathroom?  Do NOT round your answers. (See dimensions above.) 

 

       A)  33.04 sq. ft.   B) 31.625 sq. ft.   C) 64.96 sq. meters   D)  63.25 sq. meters    E)  None of the above 

 

86)  A medium pizza has a diameter of 12”.  A large pizza has a diameter of 16”.  Which one is the 

better buy if the medium costs $7.00 and the large costs $10.00 and by how much per square inch 

(nearest thousandths) 

 

       A)  Large by 0.003     B)  Large by 4.000      C) Small by 0.050          D)  Small by 0.003         

       E)  None of the above 

 

87)   Simplify 23184   
 

A.  29              B.  35               C.  24              D. 16             E.  None of the above 

 

 
 

90)  If the long leg of a 30-60-90 is 12, what is the length of the short leg? 

 

A. 33              B.  36               C.  6             D. 34             E.  None of the above 

88) 89) 

15’3” x 9’0”  

12’0” x 14’3”  

Bathroom A: 

5’9” x 5’6”  

 

Bathroom B: 

11’6” x 5’6” 

15’3” x 16’3”  
13’3” x 14’3”  
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Shade the correct answer!                 
Name______________________ 
Example:    A     B    C    D     E 
                  School _____________________ 
 
 

51.      A     B    C    D     E 71.     A     B    C    D     E 

52.      A     B    C    D     E 72.     A     B    C    D     E 

53.      A     B    C    D     E 73.     A     B    C    D     E 

54.      A     B    C    D     E 74.     A     B    C    D     E 

55.      A     B    C    D     E 75.     A     B    C    D     E 

56.      A     B    C    D     E 76.     A     B    C    D     E 

57.      A     B    C    D     E 77.     A     B    C    D     E 

58.      A     B    C    D     E 78.     A     B    C    D     E 

59.      A     B    C    D     E 79.     A     B    C    D     E 

60.      A     B    C    D     E 80.     A     B    C    D     E 

61.      A     B    C    D     E 81.     A     B    C    D     E 

62.      A     B    C    D     E 82.     A     B    C    D     E 

63.      A     B    C    D     E 83.     A     B    C    D     E 

64.      A     B    C    D     E 84.     A     B    C    D     E 

65.      A     B    C    D     E 85.     A     B    C    D     E 

66.      A     B    C    D     E 86.     A     B    C    D     E 

67.      A     B    C    D     E 87.     A     B    C    D     E 

68.      A     B    C    D     E 88.     A     B    C    D     E 

69.      A     B    C    D     E 89.     A     B    C    D     E 

70.      A     B    C    D     E 90.     A     B    C    D     E 
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